AL (A RiBHEE

& A1 6 FEMSATBIE AR Th AR A et £ WH Y 6111076 HIZZ o —rnASA 7Y U 2—is
VBT Ar—bA=FarysFsyato S % ()
BATHRT HREFEEESEE —5—1 B ERHEREYE2—15—12
RATIAR R R o= A E 20254 3H31A T AL A% 57,655,400
FEME (HEBHKE ) 111,860,000
AR AT AR 0
o EAEFRAME 0.0000
AAL T R TE TR OV A I AflLE  3H 5B 11FF00%>
EETHES %{Eﬁ% - %ﬁ%ﬁﬁﬂm FHTRE A |55 1 EAALARE (88 2 mAGKLER |55 3 EIARLAIR |25 4 EAKLAAE
= k=2 A
% 1 (8] Rl E 2 [EIFEfi % 3 [EREE 5 A [ FEAlfiE
6100039 (#) BL@PRT L 0.0000 54,144,000 0 0 0
( 6020001066941 ) piia 0.0000 0.0000 0.0000 0.0000
6111076 Ay a—R_LSAT7Y ) a—rar® (F) 0.0000 52,414,000 0 0 0
(8010401057011 ) 1 0.0000 0.0000 0.0000 0.0000
6140120 (#k) W{hER 0.0000 FEIR 0 0 0
(2011301001948 ) i3 0.0000 0.0000 0.0000
6140155 RFEY =2 VE T (¥R) 0.0000 57,629,500 0 0 0
(3010001098344 ) Ei3 0.0000 0.0000 0.0000 0.0000

1/ 1




